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01 Calculate the percentage increase in the price of sugar from May 2010 to November 2010		[2 marks]


02 Using Extract A, identify two significant points of comparison between the price indices for sugar and crude oil over the period shown.											[4 marks]


03 With the help of a diagram, explain how the absence of property rights can worsen the environmental market failures of both pollution and the rapid depletion of natural resources.					[9 marks].													

04 ‘Some economists argue that the increase in food prices, caused by the rapid rise in biofuel production, is a major cause of famine and poverty in some of the world’s economies’ (Extract C, lines 1–2).  Using the data and your economic knowledge, evaluate the case for and against governments intervening to prevent agricultural products from being used to produce biofuel.									[25 marks]
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01 In Extract E (line 8-9), it states that “Between 2008 and 2009, more than seventy local newspapers shut down in the UK.”  If a newspaper has a revenue of £1.3 million in a year and sells 920,000 copies, what would the minimum average cost need to be for this firm to be earning normal profit and therefore not need to shut down?	[2 marks]


03 Using Extract D, identify two significant points of comparison between the various sources of news accessed over the period shown.											[4 marks]


05 Using a diagram, explain why the quantity of newspapers sold by most newspaper companies has fallen.														[9 marks]


06 ‘Some people argue that, because newspapers are such an important source of information and education, the government should help them to survive’ (Extract F, lines 10 –11).  Using the data and your economic knowledge, evaluate the case for and against the government subsidising newspapers and online news.		[25 marks]


PAST PAPER 3
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02 Using Extract A, calculate the percentage increase in Full-time Undergraduates from 1980/81 to 2008/09
													(2 marks)


03 Define the term subsidies and using Extract A, identify two significant points of comparison between the number of students on full-time courses and those on part-time courses over the period shown. 			(4 marks)


05 Using a diagram, explain the view of education as a ‘…service which markets tend to under-provided’ (Extract C, line 18)
(9 marks)


06 Using the data and your own economic knowledge, assess the case for financing universities mainly through charging fees to their students. 										(25 marks)


PAST PAPER 4
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01 Extract E (line 8-9) suggests that “A smartphone is now viewed by many people, particularly the young, as a ‘must-have’ item.”  Calculate the price elasticity of demand for smartphones if a collective price rise of 10% leads to a reduction in demand of 1,000,000 sales to 990,000 to 2 decimal places.				(2 marks)

02 Extract E (lines 17-19) suggest that “Smartphone manufacturers, with their headquarters in the USA and other rich countries, have been accused of exploiting the workers in poor countries whom they employ to make their phones”.  With the help of a supply and demand diagram, explain what the effect might be on the supply and demand of labour if one of these countries decided to implement a minimum wage.			(4 marks)

03 With the help of the information in Extract E, explain two possible reasons for the change in the sales of smartphones in 2011. 											(9 marks)

04 Using the information in the data and your own economic knowledge, evaluate the economic case for and against governments attempting to influence how mobile phones are manufactured and used. 			(25 marks)


PAST PAPER 5
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01 Extract F (line 20) states “As food profit margins rise, we get fatter and less healthy.” If a large soft drinks manufacturer produces and sells 2 million soft drinks in one year.  Calculate the super normal profit for this drinks company if average costs are £0.45 at this production level and total revenue is £3,000,000 for one year.
													(2 marks)

02 Using Extract D, identify two significant points of comparison, over the period shown, between the annual percentage changes in the shop prices of fruit and sugars in the UK. 					 (4 marks)

03 Extract E (lines 12 to 14) states that in ‘the US, subsidies on corn, soya beans and rice have made the main ingredients used to make processed food cheap compared to fruit and vegetables’.  Explain how subsidies on ingredients such as corn, soya beans and rice will affect the market for processed food. 			(9 marks)


04 Extract F (lines 3 and 4) states that ‘providing nutritional information and promoting healthy eating are not enough – the government needs to do more’. Using the data and your economic knowledge, assess the case for and against government intervention in the markets for food and drink to encourage a healthy diet. 		(25 marks)


PAST PAPER 6
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01 Calculate the price elasticity of supply for the production of rare metals if the price rose by 30% and the subsequent production went from 200,000 tonnes to 230,000 tonnes.					(2 marks)

02 Extract B states that “China produces about 97% of the global supply of rare-earth metals.”  Draw an average cost curve to demonstrate how increased production might mean China benefits from further economies of scale.														(4 marks)

03 With the help of an appropriate diagram and the information in Extract B, explain how China can increase the prices of rare-earth metals by using monopoly power. 							(9 marks)

04 ‘According to some commentators, the mining industry is well known for the damage it inflicts on the environment’ (Extract C, lines 8–9). Using the data and your economic knowledge, evaluate the view that mining activities should be left to market forces with minimum intervention by governments. 			(25 marks)


PAST PAPER 7
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01 Calculate the possible price elasticity of supply for healthcare services in the United Kingdom if prices increased by 40% and supply increased by 20%.									(2 marks)

02 Using Extract D, identify two significant features of changes in UK government spending on health care over the period shown. 												(4 marks)

03 Using a diagram to show how the NHS is free at the point of use with Government subsidies and why this could cause excess demand											(9 marks)

04 ‘Scarce resources can be allocated or rationed between competing uses in a number of ways’ (Extract E, lines 1–2). Using the data and your economic knowledge, evaluate the case for and the case against the NHS charging for its services. 												(25 marks)


PAST PAPER 8
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 01  Using Extract A, calculate the percentage increase in the difference between the top and bottom income groups from the beginning of 1981 to the end of 2011								[2 marks]

 02  Define income inequality and then using Extract A, identify two significant points of comparison between the changes in real household disposable income for the two income groups over the period shown		[4 marks]

 03   Extract B (lines 3 and 4) states that: ‘Changes in prices would coordinate the decisions between consumers and producers.’ Explain how changes in prices allocate scarce resources in a market economy. 		[9 marks]

 04   Extract C (line 9) states that: ‘One problem with markets is that there is no consideration of ethical issues.’ Using the data and your knowledge of economics, evaluate the view that governments should intervene to correct market failures such as those arising from income inequality, monopolies and negative externalities.	[25 marks]


PAST PAPER 9

The Housing Market
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(01) Use Extract C to calculate, to the nearest whole number, the estimated number of people sleeping on the streets in England on any one night in 2010.								[2 marks]

(02) Use Extract A to identify two significant points of comparison between the number of new houses built per year in the UK and the changes in UK population over the period shown.					[4 marks]

(03) Extract B (lines 10 and 11) states ‘However, the housing market is not a perfectly competitive market.’
Explain why the housing market is not a perfectly competitive market.					[9 marks]

(04) Extract C (lines 20 and 21) states that: ‘Some are mindful of government failure and advocate a lesser role for governments.’
Use the extracts and your knowledge of economics to assess the view that housing markets should be left to market forces with only the minimum of intervention from governments					[25 marks]

PAST PAPER 10

The Costs of Smoking
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[bookmark: _GoBack] (01) Use Extract D to calculate, to the nearest penny, the mean average price of a pack of 20 cigarettes between 2007 and 2013.												[2 marks]

(02) Define the term ‘demerit good’ and use Extract D to identify one significant point of comparison between the price and the quantity of cigarettes consumed in the UK from 2007 to 2013				[4 marks]

(03) Extract F (line 10) states ‘Taxation is one way governments attempt to control cigarette consumption.’
Explain the effect of indirect taxation on the consumption of cigarettes using a diagram and taking into account the concept of ‘elasticity’.											[9 marks]

(04) Extract F (line 12) states ‘Regulation to reduce the consumption of cigarettes is extensive in the UK.’
Use the extracts and your economic knowledge to assess the view that regulation is the best way of dealing with the market failure that results from the consumption of cigarettes.						[25 marks]
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THE PROVISION OF HIGHER EDUCATION IN THE UK
Study Extracts A, B and C, and then answer all parts of Context 1 which follow.

Extract A: Students in higher education in the UK in thousands, by type of course,
1980/1981 and 2008/2009

1980/81 2008/09
Undergraduate
Full-time 473 1328
Part-time 247 686
Postgraduate
Full-time 62 269
Part-time 45 274
All higher education 827 2557

Source: Social Trends 41, 2011
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Extract B: Students should not have to pay fees for attending university

Universities need more income if they are to continue to provide quality education and 1
to compete in international education markets. VWhere is this money to come from?

Some suggest that universities should be financed, as they were before 1998,

largely through government spending and taxation. Subsidies were paid directly to
universities; students received grants from government to help finance their living 5
costs. UK students did not have to pay tuition fees.

Others argue that universities should be financed by increasing the amount of money

they receive from selling their research to commercial companies. However, even in

the case of the most successful universities in the USA, business provides only about

1% to 2% of university income. Less successful American universities raise much 10
less money in this way.

Ancther option is to persuade rich individuals and companies to donate money to
universities. Top American universities such as Harvard and Yale are very successful

in appealing for gifts of this kind. Even so, US universities fail to raise sufficient gift

money to pay for most of the education they provide. Britain is very different from 15
America and lacks a culture of charitable giving to universities.

Source: news reports, 2012
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Extract C: Should we charge students higher fees for attending university?

Since 1998, UK students have been charged tuition fees to help pay for their 1
university courses. The fees were raised significantly in 2012. Supporters of student

fees believe that fee income provides the best way of financing the growth of higher
education. They argue that the lifetime return on a university degree is huge. The

average graduate earns £160 000 more than the average non-graduate over a 5
lifetime, as a result of gaining a degree. Therefore, those who personally profit from
education should contribute more towards the cost of providing the service. Without

the better-off paying fees, the argument goes, university remains a highly subsidised
middle-class privilege. They conclude that this cannot continue and that politicians

must give universities the freedom to charge higher fees. 10

However, tuition fees are often attacked on the grounds that they deter young people,
especially those from poor families, from going to university. Nevertheless, until 2011
at least, despite fees being charged, university applications continued to increase
across all income groups.

The debate is about more than paying for university education. It centres on the 15
nature of the society in which we want to live. Some economists argue that education

is a service which is essential to any society which claims to be civilised. They also

believe that education is a service which markets tend to under-provide.

Source: news reports, 2012
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MARKETS FOR SMARTPHONES

Study Extracts D, E and F, and then answer all parts of Context 2 which follow.

Extract D: Market shares (%) of selected smartphone brands in the US market,
May 2010 to May 2011
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Extract E: The use and production of smartphones

A smartphone is a device that lets the user make telephone calls, but also adds
in features which, in the past, would have been found only on devices such as
computers. These include the ability to send and receive e-mails. The worldwide
smartphone market enjoyed explosive growth of 54.7% in 2011. In the UK,
smartphones now account for one in three mobile phones, and an increasing
proportion of the sales of new mobile phones.

A number of factors increased the sales of smartphones and some also caused their
prices to fall in 2011. One of the factors was fashion. A smartphone is now viewed

by many people, particularly the young, as a ‘must-have’ item. Fashion also means
that some users want to buy the latest, most advanced, smartphone as soon as it

is advertised, replacing the model bought the year before. Other factors include
substantial economies of scale, improvements in productive efficiency and the entry of
new firms into the market.

10
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Smartphones are assembled from a very large number of components produced in
low-cost factories located mostly in Asia. Some people believe that the main reason 15
why manufacturing costs are low stems from the low wages paid to Asian workers.

Smartphone manufacturers, with their headquarters in the USA and other rich
countries, have been accused of exploiting the workers in poor countries whom they
employ to make their phones.

Source: news reports, 2012
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Extract F: Mobile phone use and possible health risks

The World Health Organisation (WHO) has stated that there “could be some risk” of 1
mobile phone use causing cancer. Some national radiation advisory authorities have
recommended measures to minimise exposure of their citizens to radiation emitted

by mobile phones. However, an assessment by a European Commission Scientific
Committee concluded that “exposure is unlikely to lead to an increase in cancer in 5
humans”.

Ancther area of concern is radiation emitted by the broadcasting masts which provide

the link to and from mobile phones. In contrast to mobile handsets, this radiation is

emitted continuously. People who spend long periods of time a short distance from

active telecommunications equipment may be at risk of much greater exposure to 10
radiation than the general population.

In February 2009, a French telecom company was ordered to take down a mobile

phone mast due to uncertainty about its effect on health. However, the general

presumption taken by courts of law is that mobile phone users themselves, and not
governments, should take responsibility for avoiding health risks. They should do this, 15
for example, by using hands-free devices to decrease radiation to the head. The use

of mobile phones when driving can also cause accidents.

Source: news reports, 2009-2012
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HEALTH AND DIET IN THE UK

Study Extracts D, E and F, and then answer all parts of Context 2 which follow.

Extract D: UK shop prices of fruit and sugars®*, annual percentage change, 2000 to 2011

8
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Source: National Statistics, June 2012
* Sugars includes sweets, chocolate, sugar and jam.
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Extract E: Obesity — a growing problem

According to figures published in 2011, about half the adult population in developed 1
countries is overweight or obese. In the UK, obesity rates are at 26% and, if

the current rate of growth continues, experts predict that three-quarters of the

population could be overweight within 10 to 15 years. Some believe that obesity is
responsible for more ill health than smoking. Problems include high blood pressure 5
and diabetes. A study by the National Audit Office estimates that obesity costs

the National Health Service (NHS) at least £500m a year, as well as more than

£2bn a year in lost output. In making decisions about what and how much to eat,
consumers usually consider only the short-run marginal private costs and benefits.

So what is causing this growing problem? Poor diet is one factor. Bigger portions, 10
increased demand for fast food meals and sweetened drinks are among the culprits.
Agricultural policy in the US and Europe has also played a part. In the US, subsidies

on corn, soya beans and rice have made the main ingredients used to make

processed food cheap compared to fruit and vegetables. According to a recent

survey, sales of fruit in the UK are now 11.6% lower than in 2007. 15

Insufficient exercise is also to blame. A shift towards less physically demanding

work, increasing use of transport and more labour-saving technology in the home

have all contributed, whilst in both children and adults, there is an association

between television viewing time and the risk of obesity. However, it must be

remembered that for some people, obesity is caused by medical conditions over 20
which they have little control.

Source: news reports, August 2012
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Extract F: Government intervention — food for thought?

One way to tackle obesity is by not putting on too much weight in the first place. 1
A combination of a healthy, balanced diet and regular exercise should be sufficient in

most cases. However, providing nutritional information and promoting healthy eating

are not enough —the government needs to do more.

One option is a tax on junk food, possibly accompanied by subsidies for fruit and 5
vegetables. But will demand be sufficiently price elastic? Such taxes may have

to increase the price of unhealthy food and drinks by as much as 20% to cut

consumption enough to reduce obesity, according to research published in the

British Medical Journal. However, a spokesman for the Food and Drink Federation
representing food producers and retailers claimed: “¥When the whole of the food 10
industry is focused on continuing to give hard-pressed families great tasting food at

an affordable price, discussion of adding 20% to food prices seems irresponsible.”

Denmark, Hungary and France have introduced taxes on a variety of foods and

drinks high in salt, sugar and fat but the UK government faced an outcry when it

announced that it would add Value Added Tax (VAT) to hot food such as pasties. 15
Other suggestions include a ban on firms such as McDonald’s and Coca-Cola

sponsoring major sports events such as the Olympics. Some head teachers have

written to parents forbidding children from bringing in unhealthy snacks but others

believe it has no effect, or that what children eat is not their responsibility.

As food profit margins rise, we get fatter and less healthy. Should companies do 20
more to persuade their customers to eat more healthily? Should governments
intervene? Why can’t we just eat what we want?

Source: news reports, August 2012
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RARE-EARTH

METALS

Study Extracts A, B and C, and then answer all parts of Context 1 which follow.

Extract A: Global supply of, and global demand for, rare-earth metals, tonnes,

2000 to 2012
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Source: official statistics, 2010
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Extract B: The use and production of rare-earth metals

Without rare-earth metals such as cerium and promethium, important modern 1
technologies could not exist. Indeed, rare-earth metals function as a vital factor

of production in all industries that make use of rechargeable batteries, solar cells

and strong magnets. The production of Toyofa's Prius car makes use of several

rare-earth metals. Without rare-earth metals, it would be impossible for electrically- 5
powered cars to eventually replace petrol-driven cars. The growth of the renewable

energy market would also be held back.

Currently, China produces about 97% of the global supply of rare-earth metals.

Most of China’s exports of rare-earth metals are bought by the United States and

Japan. In 2010, the Chinese government ordered China’s mining companies to cut 10
exports of rare-earth metals by 35%. The United States and Japanese governments
immediately accused China of exercising monopoly power at their expense. China’s
monopoly power is strengthened by the fact that demand for rare-earth metals is

relatively price inelastic. Forcing up the prices of rare-earth metals in other countries
currently gives China an artificial competitive advantage in world markets for high- 15
technology manufactured goods.

Source: news reports, 2010




image19.png
Extract C: Rare-earth metals: a case of market failure?

Rare-earth metals have been called ‘clean energy’s dirty little secret’. The ores from 1
which the metals are extracted are often radioactive. The resulting environmental costs

are well illustrated by the Mountain Pass mine in California which, for many years,

provided most of the world’s rare-earth metals. In the 1980s, Molycorp, the company

owning the mine, began piping radioactive waste water to evaporation ponds 14 miles 5
away. However, leaks occurred and 600000 gallons of hazardous waste flowed out into

the surrounding desert.

According to some commentators, the mining industry is well known for the damage

it inflicts on the environment. Very often, mining companies avoid paying for the cost

of the pollution they discharge into rivers, particularly when operating in developing 10
countries such as China. By contrast, governments in richer countries strictly regulate

mining activities and make mining companies pay for much of the pollution they

generate.

In 2002, the cost of meeting new environmental regulations forced Molycorp to close

the Mountain Pass mine. However, after spending $2.4m a year on meeting these 15
regulations, Molycorp hopes to have the mine working again by late 2011. Molycorp

believes that the high prices which rare-earth metals now command will allow the mine to
make a substantial profit.

Monopoly power often leads to significant market failure. However, if high prices caused

by the use of monopoly power lead to the opening of new mines outside China, markets 20
for rare-earth metals may end up working rather well. Despite the cost of meeting tough
environmental regulations, the way in which mining companies around the world are

reacting to higher prices provides a good example of the incentive function of prices

improving resource allocation.

Source: news reports, 2010
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RATIONING THE SUPPLY OF HEALTH CARE SERVICES

Study Extracts D, E and F, and then answer all parts of Context 2 which follow.

Extract D: UK government spending on health care as a % of national output,
annual % change, 1980 to 2015
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Extract E: Matching supply and demand for health care services

Scarce resources can be allocated or rationed between competing uses in a number
of ways. In a free market, the price mechanism rations the use of scarce resources.
However, governments can also allocate resources, although this may lead to queues
and lengthy waiting lists.

In the UK, most health care services are provided by the National Health Service
(NHS). Many NHS services are free at the point of use for consumers and financed
out of taxation. However, an ageing population, changing lifestyles and people’s
changing expectations of their right to health care are all factors which have led to
excess demand for many NHS services.

Demand for most NHS services has always run ahead of supply. The government
could try to match demand with supply either by reducing demand or by increasing
supply. Demand could be reduced by charging patients for the health care they
receive. Alternatively, the government could increase the supply of health care
services by spending more on them. However, improvements in medical technology
and the development of new, but usually expensive, drugs are dramatically increasing
the cost of supplying NHS services to meet existing demand, let alone future demand.
Increasing the supply of services may simply be unaffordable for the taxpayer.

10

15
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Perhaps the best route forward is to manage expectations so that people expect less

from the NHS. For example, should people expect free treatment for a leg injury

received while out jogging? Should people expect the NHS to provide a free hip 20
replacement for a ninety year old who has already received two replacements in the

past ten years? These are the kind of questions that might need answering in the

near future.

Source: news reports, 2011
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Extract F: Health care reform in the UK

Various government health care agencies in the UK are responsible for rationing 1
scarce NHS resources: for example, by telling doctors whether or not they can
prescribe very expensive drugs for the treatment of cancer patients.

This system for rationing scarce NHS resources has been criticised in two main

ways. First, some argue that the system is unfair because it has led to a situation 5
in which drugs and treatments are available in some parts of the country but not in

others. Second, some argue that the system for making rationing decisions in the

NHS is ‘top-down’, with managers at the top making the rationing decisions rather

than the local doctors who care for the patients.

These criticisms lie behind the health care reforms announced by the Department 10
of Health in 2011. It was proposed that in a new ‘bottom-up’ system, local doctors

would take over the task of rationing scarce resources: for example, by ordering

drugs and booking operations for their patients. One aim is to increase competition

within the NHS, although critics believe that the reforms will lead to the eventual

break-up of the NHS as a ‘free-at-the-point-of-use’ comprehensive service. 15

Some argue that the break-up of the NHS is already taking place. The NHS no

longer provides free dental care for most of the UK population, which has led to a

situation in which many people, especially the poor, go without regular dental health

checks. Should the government restore free, or heavily subsidised, NHS dental

care? Or should people have to pay full market prices for any dental care they 20
receive?

Source: news reports, 2011
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MARKETS: DO THEY BENEFIT ALL?
Study Extracts A, B and C, and then answer all parts of Context 1 which follow.

Extract A: Index of real household disposable income of two income groups*,
1981 to 2011, 1977 =100

300

250

200

Source: Office for National Statistics, July 2013.
Contains public sector information licensed under the Open Government Licence v 2.0.

" ‘Top’ refers to the highest earning / 20% of households; ‘Bottom’ refers to the lowest earning / 20% of households
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Extract B: Markets at work

Adam Smith, the eighteenth century economist, wrote of the ‘invisible hand of the market’.
He believed that, left to its own devices, a market would ensure that resources are
allocated to their best uses for the benefit of all. Changes in prices would coordinate the
decisions between consumers and producers. Indeed, it is largely as a result of the market
mechanism that 63 million people in the UK are fed and clothed every day. How could a
government hope to plan for such an undertaking? For instance, consumers can buy fresh
food or processed food; they may eat in, eat out or on the go; they can dress in designer
wear, sportswear or work wear. The list is endless.

However, buying decisions can be influenced by powerful producers. Indeed, the power
of brand names such as iPad and Coca-Cola can be a significant barrier to entry. It can
reduce competition in markets and lead to some firms possessing monopoly power.
Consequently, consumers may face reduced choice and may have to pay higher prices to
obtain what they perceive to be the best product. Moreover, in reality, advertising

1
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also plays a key role in the allocation of resources. Its influence, in some markets,

has been criticised, and there have been calls for greater regulation. Advertising can 15
encourage increased consumption of goods and other activities which give rise to negative
externalities, such as gambling. In some cases, this has led to financial ruin, family

breakdown and health problems; yet the total number of gambling advertisement slots on

UK television increased from 152 000 in 2006 to 1.39 million in 2012. Statistics show that

those in the lowest income group spend, on average, more per week on gambling than they 20
do on taking part in sports activities.

Source: News reports 2014
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Extract C: Do markets work ethically?

Can consumers always buy what they really need? One of the main determinants of a 1
consumer’s demand is income. Whilst income inequality has reduced slightly over the past

few years, in 2011/12 the highest earning fifth of UK households had an average income of

£78 300, compared with £5400 for the lowest earning fith — a ratio of 14.5to 1. Those

with higher incomes have more spending power, which inevitably leads to higher prices in 5
certain markets, excluding those who earn less. In 2011, for example, 9% of the population

felt that they were unable to afford their mortgage or rent payments, whilst 30% felt that

they were unable to afford a week’s annual holiday.

One problem with markets is that there is no consideration of ethical issues. Resources

are allocated on the basis of demand backed by willingness and ability to pay, and not 10
necessarily with the general well-being of society in mind. For those people who earn very

low incomes, and for those who are unemployed, life can be a struggle. As the political

economist, Will Hutton, wrote recently: ‘At the bottom, a world of food banks, payday

lending and quiet desperation. And at the top, an extravagantly-paid elite.” So do markets

work well, as Adam Smith suggested, or do they lead to market failures such as those 15
arising from income inequalities, monopolies and negative externalities?

Source: News reports 2014




image28.png
Extract A:

New houses built per year, UK, 1992 to 2013  Estimates of annual changes in the UK
population, 1992 to 2013
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Extract B: A market working well?

House prices are increasing again in the UK. Demand is increasing due to a growing 1
number of one-person households, rising immigration and various government initiatives

such as the ‘Help to Buy’ scheme for first time buyers. When this is combined with a price
inelastic supply of houses it means prices rise, sometimes significantly, to eliminate the

excess demand. In the long run, with the incentive of higher profits, supply should increase 5
as new building firms are encouraged to enter the market, although recent evidence

suggests that larger firms account for a greater percentage of new house building. Recent
reductions in planning regulations should also help the market respond to excess demand.
Additionally, with ever-growing use of the internet, there is greater price transparency,

leading to more information for buyers and sellers, even between regions. However, the 10
housing market is not a perfectly competitive market.

Source: news reports, 2014
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Extract C: Or amarke

So, is the housing market

t failing?

working well then? Not everyone would agree: the charitable
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wealth. However, for the

kes time.

house is the most valuable asset that they will ever own, it adds
of wealth, and as house prices rise, so does the value of their
homeless and those forced to rent, the inequality that exists in the

distribution of wealth grows bigger.

Even the price of renting

has increased, making it increasingly difficult for tenants to save

for the large deposit need
implementation of maxim
from charging the market

ed to buy their own home. Some economists have suggested the
um price controls on rented accommodation that prevent landlords
rent. Others have suggested a more radical approach, with

increased government provision of affordable housing. Some are mindful of government
failure and advocate a lesser role for governments.
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Source: news reports, 2014
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Extract D: Price and quantity of cigarettes consumed in the UK, 2007 to 2013

Year Price of a pack of Cigarettes consumed
20 cigarettes (£) {billions)
2007 5.33 47.0
2008 5.44 46.5
2009 5.67 46.5
2010 6.13 445
2011 6.63 42.0
2012 7.09 40.5
2013 7.72 37.9

Source: Tobacco Manufacturers’ Association, 2015
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Extract E: Smoking and pregnancy

Smoking during pregnancy increases the risk of miscarriage, premature birth and even 1
stillbirth. Babies may suffer lower birth weight, a higher chance of cot death and are more

likely to have health problems throughout their lives. Smoking results in the deaths of an
estimated 5000 babies each year in the UK. The estimated annual cost to the health service

is £64m for treating smoking-related problems in mothers, and £23.5m for treating babiesup 5
to the age of 12 months.

Statistics show that 12% of pregnant women in England are smokers. The rates are even
higher in other parts of the UK; for example, 20% of women in Scotland smoke during
pregnancy.

Researchers at the Universities of Glasgow and Stirling offered pregnant smokers up to 10
£400 worth of shopping vouchers to give up smoking; the results indicate vouchers could be
cost-effective. After a year, 15% of those who received the vouchers remained non-

smokers, compared with only 4% who received standard anti-smoking advice. However,

some critics argue using financial incentives to promote healthy behaviour is just bribery.

Source: news reports, March 2015
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Extract F: How should governments deal with smokers?

Smoking is a major health issue and cigarettes are regarded as a demerit good. Research 1
by the American Cancer Society suggests that two in three smokers will die early from

cancer, heart disease or other smoking-related diseases. Smoking caused a fifth of all

deaths in the UK in 2010. The cost in terms of lost output, fires, litter and health care was
estimated to be £13.8bn. 5

n 1974, 51% of men and 41% of women in the UK smoked. By 2013, rates had more than
halved, to 22% of men and 19% of women. However, ten million adults still smoke and
200 000 children aged between 11 and 15 start smoking each year.

ndirect taxes added approximately £5.91 to the price of a pack of 20 cigarettes in 2013.
[axation is one way governments attempt to control cigarette consumption. However, high 10
axes have encouraged illegal importation of tobacco products into the UK.

Regulation to reduce the consumption of cigarettes is extensive in the UK. From October

2015, drivers will be fined £50 if they smoke when children are in the car. Pictures warning

of the dangers of smoking were introduced on cigarette packs in October 2008. All forms of
obacco advertising and promotion are now banned, including the display of tobacco 15
products in shops. Since 2007, it has been illegal to sell tobacco products to anyone under

he age of 18. Smoking is now illegal in virtually all enclosed public places and workplaces.

Some argue that government intervention in the UK has gone too far; regulations interfere

with consumer choice and the operation of the free market. Currently, there are 66 000

people in tobacco-related jobs and around £12bn is collected from taxes on tobacco 20
products.

Source: news reports, March 2015
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CRUDE OIL AND FOOD MARKETS
Study Extracts A, B and C, and then answer all parts of Context 1 which follow.

ExtractA: Price indices for sugar and crude oil, December 2009 to November 2010
{1 December 2009 = 100)
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Source: official statistics, 2010
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Extract B: How crude oil markets and food markets affect each other

Global food markets and crude oil markets have become much more interrelated in recent
years. Changes in crude oil markets affect food markets. Likewise, changes in food
markets affect crude oil markets. Composite demand and derived demand provide part of
the explanation

One link between food and crude il prices stems from the growing use of biofuel as an
altemative to petrol and diesel fels. Petrol and diesel fuels are both produced from crude
oil. Crops such as sugar and wheat, which have always been used as foodstuffs, are now
in demand as raw materials for biofuel production

Rising incomes in China and India have increased the demand for motor fuels. This has
affected the price of crude oil. A significant rise in the price of crude oil increases the
demand for biofuel, which then reslts in the diversion of sugar cane and wheat away from
foodstuffs into biofuel production

Source: news reparts, 2012
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Extract C: Biofuels, poverty and the environment

Some economists argue that the increase in food prices, caused by the rapid rise in biofuel
production, is @ major cause of famine and poverty in some of the world's economies

According to an Oxfam report, the environmental policies of rich countries and the
replacement of traditional fuels with biofuels have dragged more than 30 million people
worldwide irto poverty. Oxfam also says that biofuels will do nothing to combat climate
change

The report criticised rich countries for using subsidies and exemptions from tax to
encourage the use of crops for biofuel rather than for food. Rich courtries were said to be
stealing crops and land away from food production, and they were destroying millions of
livelinoods in the process. One adviser from the United Nations has described biofuiels as
a"crime against humantty”

However, the President of Brazi, a major biofuel-producing courtry, believes that the
biofuel boom provides poor nations with a great opporturity. It creates a proftable export
for farmers in Africa and Latin America that may enable ther to grow their way out of
poverty.
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Source: news reports, 2012
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THE NEWSPAPER MARKET
Study Extracts D, E and F, and then answer all parts of Context 2 which follow.

ExtractD: Percentages of the US population accessing news from various sources,
2002 to 2008

Yo 90
TV news

75

60

~— _Newspapers
45 < =

2002 2003 2004 2005 2006 2007 2008
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Extract E: The declining sales of newspapers and the growth of online news

Traditionally, the main products sold by newspaper companies were newspapers 1
themselves. Newspapers are generally regarded by econormists as private goods

Newspaper companies earn revenue, partly from the price charged for the newspapers,

and partly from money received from advertisers. Advertising in newspapers is necessary
becaise the prices that readers pay are less than the joumalism, paper and delivery costs 5
that are incurred when producing and selling newspapers

In recent years, the cost of producing newspapers has risen while sales have dropped

significantly. Between 2008 and 2009, more than severty local newspapers shut down in

the UK. Most national newspapers make losses. Some survive because they have rich

owners who pay for the losses 10

However, virtually all newspapers now provide news on the internet, in the hope that money
made from intemet advertising can cover losses incurred from selling newspapers

Saurce: news reparts, 2010
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Extract F: How the internet is changing the ways in which people access news

When news is available completely free on the internet, it possesses some ofthe properties
of a public good. However, whilst the owners of newspapers such as The Daily Mail and
The Guardian provide free online versions of their printed newspapers, other owners do
not. For example, readers of The Times and The Sunday Times must pay subscription

fees to access online versions of these papers. Between these extremes, The Economist
provides most ofits online content for free bt readers have to pay to read certain articles

The variety of differert pricing policies reflects the fact that newspaper companies are
experimenting with a number of ‘business models', as they seek to ear sufficient money
from the internet to offset losses made from newspaper sales

Sorme people argue that, because newspapers are such an importart source of information
and education, the government should help them to strvive. Some argue that the
government should also encourage free availability of online versions of newspapers
Whilst subsidies undoubtedly affect resource allocation, should newspaper comparies be
subsidised so that the genieral public can buy cheaper newspapers and access free online
news?

Source: news reports, 2012




